3) Suppose 0>a>-1. What must be true about the'value of b so that a>ab?

A 1<b C 1>b >0 ?)2,\\\)30‘—\L
-——________——-'

B bx<-1 D -1<b<0

4) Four submarines start at sea level, which is 0 meters.
The table shows the change in position per minute, relative to sea level, of four different submarines.
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Part B
Submarine E also starts at sea level and its position relative to sea level changes at a co
minute. Submarine E is at -30 meters after 10 minutes.

-3
10)-30

Choose True or False for each statement.

a. Submarine E changes position faster than Submarine D. %’ue O False
b. The position of Submarine E will be between the positions
of Submarine C and Submarine B. 0 True ﬂFalse
c. The position of Submarine B changes twice as fast as O True KFalse
Submarine E.
d. The position of Submarine E after 10 minutes is closer to sea XTrue O False

level than position of Submarine A after 10 minutes.
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